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Mark the letter A, B, C or D to indicate the word whose underline part differs from the other
three in pronunciation in each of the following questions:

Question 1: A. traffic B. address C. rural D. allow
Question 2: A. teacher B. childless C. charity D. school
Question 3: A. angry B. supply C. needy D. country

Mark the letter A, B, C, or D to indicate the word that differs from the other three in the position
of the primary stress in each of the following questions.
Question 4: A. equal B. gender C. career D. patient

Question 5: A. environmental B. communication C. organisation D. international

Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 6: Educated women are becoming less dependent _ their husbands’ decisions.

A. about B. on C. of D. for
Question 7: is not only a fundamental human right, but a necessary foundation for a
peaceful, prosperous and sustainable world.

A. Gender equality B. Gender inequality

C. Gender gaps D. Gender differences

Question 8: The international Red Cross helps to ensure respect for the human being, and to
prevent and relieve human

A. proctection B. sufferings C. wealthy D. enjoyment
Question 9: UNICEF's aim in Viet Nam is to protect children and they are healthy,
educated and safe from harm.

A. make sure B. show sure C. give sure D. do sure
Question 10: The international Red Cross helps people in need without any discrimination based
on race, religion, class or political opinions.

A. nationality B. national C. native D. nationally
Question 11: Thanks to the women's liberation women can take part in activities.

A. socialize B. social C. society D. socially
Question 12: Wedding ceremonies are ___ now than they used to be in the past.

A. the most complicated B. less complicated

C. as complicated D. the least complicated
Question 13: Through activities, Vietnam has helped achieve peace in the global
community.

A. interesting B. exciting C. influencing D. peacekeeping
Question 14: My point of view all of participants.

A. may not be understood B. may not be understand by
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C. may not be understood by D. may be not understood by

Question 15: | tried to write the second composition as well, but | time.

A. ran into B. ran up C. ran out of D. ran off
Question 16: Discrimination on the basis of gender from workplaces.

A. shouldn’t be removed B. can be removed

C. will be removed D. must be removed
Question 17: Cultural diversity makes our country by making it a place in which
to live.

A. richer- most interesting B. richer- more interesting

C. rich- more interesting D. richest- more interesting
Question 18: Canada, the USA, and Russia are big countries, but Russia is :

A. the bigger B. biggest C. the biggest D. bigger

Question 19: The International Red Cross has about 97 million volunteers whose main
is to protect human life and health.

A. mission B. experience C.rule D. organization
Question 20: Today, Australia is one of diverse countries in the world.

A. most cultural B. the most culturally

C. the most cultural D. the more culturally

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate
the best answer to the questions.

UNICEF provides a relief network for children and their parents or other caregivers in the aftermath
of disasters, such as floods, earthquakes, and droughts. It has worked extensively with children
from war-tom countries to help alleviate their suffering. The organization works to prevent child
abuse, child labor, sexual exploitation of children, and the use of children as soldiers. In the United
States, UNICEF has focused its work on inner-city children victimized by random violence and
gang warfare.

UNICEF has provided immunization to millions of children against potentially fatal diseases, such
as diphtheria, tetanus, whooping cough, measles, polio, and tuberculosis. UNICEF's promotion of
basic health-care delivery systems and treatments, such as rehydration therapy for children
suffering from diarrhea, has also contributed to dramatic reductions in child mortality. In response
to the global epidemic of acquired immunodeficiency syndrome (AIDS), UNICEF works to prevent
the transmission of AIDS and human immunodeficiency virus (VHS) in young people and to obtain
medicine for infected individuals. It also helps communities, especially those in sub-Saharan
Africa, care for the millions of children orphaned by the death of their parents from AIDS.

UNICEF receives financial support from more than 150 national governments. Like many
international aid organizations, however, UNICEF faces shrinking government subsidies for the
work it performs. UNICEF's challenge in the years ahead is to attract a greater percentage of its
funding from foundations, corporations, and individuals to ensure its programs can continue.

Question 21: Which of the following statements is NOT TRUE?
A. UNICEF works to protect children from harmful effects.

B. UNICEF is funded by more than 150 national governments.
C. UNICEF creates better working conditions for children.
D. UNICEF provides programs improving early health-care system for children.
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Question 22: UNICEF was established in order to
A. support homeless children in big cities.

B. solve conflicts between children and their parents.
C. prevent problems that affect children badly.
D. prevent natural disasters such as droughts, floods, earthquakes.

Question 23: Millions of children can escape from fatal diseases such as diphtheria, tetanus,
measles, tuberculosis because of
A. the immunization program of UNICEF

B. the prevention from the transmission of AIDS
C. the new treatments in hospital for children
D. the improvement of modern medical system in the world

Question 24: In communities in sub-Saharan Africa, UNICEF also helps
A. children suffered the aftermath of natural disasters

B. children orphaned by the death of their parents from AIDS
C. children victimized by random violence
D. children infected fatal diseases

Question 25: In the near future, the challenge of UNICEF is
A. to continue its programs

B. to reduce child mortality
C. to prevent the transmission of AIDS
D. to attract a greater fund from foundations

Complete the sentences, beginning as shown, so that the meaning stays the same
Question 26: Vietnam wasn’t as attractive to foreign tourists as it is nowadays.

P VIetNam Lo
Question 27: He must pay the bills before the fifth of the month.

P The DIllS ..o
Question 28: No other country is a bigger financial provider to this organization than Japan.

Question 30: Michael is the best guitarist in our region.
) [ ) TS PP

Rewrite the following sentences by using the word given in the brackets:

Question 31: My hair is as long as yours. (LENGTH)
P Myhairis ...ooooiiiiiiiiii yours.
Question 32: Playing video games is not as good as exercising. (THAN)
P EXCICISING.....viniitit it
Question 33: No ocean in the world is deeper than the Pacific. (DEEPEST)
» The Pacific .......coooviiiiii e
Question 34: Have you ever participated in a swimming race? (PART)
» Haveyouever ............cooevvvienninnns in a swimming race?
Question 35: People think that train-robber Dave Briggs has escaped. (HAVE)
» Train-robber Dave Briggs ................cooeviiinne escaped.
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Complete each sentence using the correct form of the word in brackets:

Question 36: UNDP has done a lot to help developing countries to reduce (poor) :
Question 37: Women are less likely to get (promote) or given a chance to improve
their professional qualifications, especially among those who work in the state sector.

Question 38: Girls shouldn’t be treated (differ) from boys.

Question 39: What are the (economy) benefits for our country as a member of this
international organization?

Question 40: Gender balance means creating more equitable opportunities for women, particularly

at the (high) levels of an organization.

Question 41: UNICEF helps (disadvantage) teenagers continue their education by
offering them job training and career advice.

Question 42: If girls are knowledgeable and (depend) , they won’t choose to get

married early.

Question 43: Lack of education limits prospects, decreases family income, reduces health, puts
women and girls at risk of trafficking and (exploit) :

Question 44: He was not a particularly good teacher, but his students loved him because he had
such a lively (person) :

Question 45: It was extremely (care) of you to leave your library books on the bus.

Fill in each blank in the passage with the correct word in the table below. There is an extra word.

uneducated promoted likely differences  domestic give

Gender equality has been greatly (46) around the world. However, there are still many
challenges that women face.

First of all, there are still girls who are forced to get married before the age of 18. In many places,
parents may see child marriage as a way to protect their daughters from violence. However, many
of these young girls become victims of (47) violence. Child marriage also carries serious
health risks as young girls are not physically developed to give birth.

Secondly, more than half of the world’s (48) people are women. This means fewer girls
than boys go to school or to stay long at school. Girls who receive an education are likely to marry
young. They can also have better job skills and can earn higher salaries. Education (49)

girls opportunity to have a better life and give back to their communities.

Thirdly, women are often paid less than men. In other words, women have to work longer than men
to earn the same amount of money. (50) in career choices might be one reason. Women
tend to become nurses, secretaries, or shop assistants, which are low-paying jobs, while men choose
high-paying careers as surgeons, airline pilots, or engineers.
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